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OC] 70m/s

0.1 m/s

[10.3+ 0.03vOd m/s

0d

OL1 360°

10

I+

30




oo -5000 +8001 0.10] + 0.20
oo OLJ 100%RH 1%RH + 3%RH
HEN -5000 +8001 0.10] + 0.20
HEN D) 100% 1% + 3%
HEN 0~999.9mm 0.2mm + 4%
oo 0~2000W/m2 1 W/m2 + 2%
HEN 45001 1060hPa 0.1 hPa + 0.3hPa
O O] 100mm 0.1mm = 0.1mm
PM2.5 01 500ug/m3 1ug/m3 t+ 5%
PM10 01 2000ug/m3 1ug/m3 + 5%
ooog D] 2000ppm 1 ppm + 0.5%
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oo -4001 500 0.10] + 0.2[]
oo 001 10000 RH 0.100 RH + 300 RH
0 O 6000] 1100hPa 0.1 hPa + 0.3 hpPa
O O[] 360° 1° + 1/20 O
0 O 0] 30m/s 0.1m/s t+ (0.340.03

googd -160] 8101 0.100 + 0.20]
googd -0201 4101 0.10] + 0.20
ogoon -260] 510 0.10 + 0.201
googd O] 100%RH 1%RH + 3%RH
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800L] 1060hPa

1 hPa

+ 0.5 hPa
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